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4) Where would you place 
the digits 2, 3, 4 and 5 
so that the fraction 
sum has the smallest 
possible answer? 

Fill in the question 
marks so that these 
addition triangles are 
correct 

Questions taken from Don Steward’s MEDIAN Blog — http://
donsteward.blogspot.co.uk/search/label/fraction%20addition 
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Answers Red: 

1) 13/14    2) 13/15 
 

Amber: 

1) 13/20   2) 29/30   3) 43/55   4) 27/28  
 

Green: 

1) 7/12   2) 15/28  3) 7/8  4) 37/70  5) 21/22  6) 19/24  7) 53/63 

8) 13/20  9) 3/28  10) 47/60 11) 1/90  12) 85/150 = 17/30   

13) 10/36 = 5/18  14) 57/84 = 19/28  15) 19/33 16) 185/156 = 1 29/156 
 

Extension: 

1) 19/24, 20/96 = 5/24, 1     2) 7/12, 10/24 = 5/12   

3) 14/48 = 7/24, 17/24, 7/12    4) 2/4 + 3/5 


